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TRIAL HIGHER SCHOOL CERTIFICATE
EXAMINATION 2012

 MATHEMATICS
EXTENSION 1

General Instructions: Total Marks 70

Reading Time: 5 minutes. Section I 10 marks
Working Time: 2 hours. : Attempt Question 1 - 10.
Write in black or blue pen. * Answer on the Multiple Choice
answer sheet provided.
' Board approved calculators & templates may be * Allow about 15 minutes for this
used section.

A Standard Integral Sheet is provided.
Section II: 60 Marks

In every question, show all necessary working | * Attempt Question 11 - 14
* Marks may not be awarded for careless or badly * Answer on blank paper unless
arranged working. otherwise instructed. Start a new

page for each new question.

* Allow about 1 hours & 45 minutes
for this section,

The answers to all questions are to be returned in separate szapled bundles clearly
labelled Question 11, Question 12, etc. Each question must show your Candidate
Number.
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SECTION| MULTIPLE CHOICE (10 marks)

Attempt Question 1 - 10 (1 mark each)
Allow approximately 15 minutes for this section

1 A bowl of soup at temperature T°C, when placed in a cooler environment, loses heat
. according to the law f;—':- = k(T — T,) where t is the time elapsed in minutes and Ty is

the temperature of the environment in degrees Celsius. A bowl of soup at 96°C is left
to stand in a room at a temperature of 18°C. After 3 minutes the soup cools down to
75°C. What is the value of k correct to 4 decimal places?

(4) -0.0784 (€) -0.1046
(B) -0.0856 (D) -0.1236

2 Which of the following is an expression for [ cos? 2xdx?

1 .
(A) x—7sindx +c © g—%sin4x+c

1.
(B) x+sindx +c ™) §+§sin4x+c

3 The velocity of a particle moving in a straight line is given by v = 2x + 3 where x
metres is the distance from fixed point 0 and v is the velocity in metres per second.
What is the acceleration of the particle when it is 4 metres from 0?7

(A) a=11ms2 (€) a=22ms™2
(B) a =19ms™? (D) a=23.5ms™2

4 Which of the following is an expression for [ xv1 — x2dx?
Use the substitutionu = 1 —x2,

—~(1-x2 3 o 3
(A) T) +c (C) (1 3x2)2 +c-
(B) ______(1—;:7-)3 +c 23
3 (D) %x__)_ +c
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5 What are the solutions to the equation ¢5* — 7¢3* + 6 =07
(A) x=1landx=6 © x:()andx:'_';ﬁ

Iné
(B) x=0andx=—2— ) x=1e\ndx=lnT6

6 A particle moving in a straight line obeys v* =—x’ +2x+8 where x is its displacement
from the origin in metres and v is its velocity in ms-1. The motion is simple harmonic.
What is the amplitude?

(A) 2m metres ' (C) 8 metres
(B) 3 metres (D) 9 metres

7 How many distinct permutations of the letters of the word ‘ATTAINS’ are possible in a
straight line when the word begins and ends with the letter T?

(A) 60 € 360
(B) 120 (D) 1260

8 Iff(x) = e**? what is the inverse function f~1(x) ?
(A) fx) =e"? (€ f'(x) =logex—2
(B) fi(x)=er*? (D) f'(x)=logex+2

9 What is the coefficient of x5 in the expansion of (1 — 3x + 2x3)(1 — 2x)5?
(A) —-792 (8) -720
(€) 120 () 312

10 Adie s tossed 3 times. What s the probability of 0 or 1 six turning up?

2 25
W = ® 2
© =L o

216 216
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SECTIONII EXTENDED RESPONSE (60 marks)

Total Marks is 60 |
Attempt Question 11 - 14.
Allow approximately 1 hour & 45 minutes for this section.

Answer all questions, starting each new question on a new sheet of paper with your student
ID number in the top right hand corner and the question number on the left hand side of your
paper. All necessary working must be shown in each and every question.

QUESTION 11 (15 Marks) ‘ Marks
4
(a) Solve ——< 5. 2
3x+1
(b) [Ife,p andy are the roots of the equation x3 + 2x2 — 3x — 5 =0, 2
find the value of = + — + —,
af By ay
(c)  Use the substitution x = u? + 1 for u > 0 to evaluate the integral: 4
5
f(x—i— Dvx—1dx
1
_ 2
(d) Aseriesisgivenby1+ 1Tp + (lTp) + ---, where p is positive.
(i)  Find the domain of p such that the series has a sum to infinity. 2
(if)  Find this sum to infinity in terms of p. 1
(e) Prove that the tangent to a parabola x? = 4ay at a given point P(2ap, ap?) 4

is equally inclined to the axis of the parabola and the focal chord through
the point.

QUESTION 12 (15 Marks) START A NEW PAGE

(a)

{b)

{9

(d)
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Solve: x® +2x2—5x — 6 =0

When the polynomial P(x) is divided by x% — 1, the remainder is 3x -+ 1.
What is the remainder when P(x) is divided by x 4 1?

In how many ways can 4 men and 4 women be arranged around a circular table if:
(i) All women sit together?

(ii} All the men are in pairs separated by two pairs of women?

Find the géneral solution to: cos 50 — cos 26 = 0

A thin-walled cone-shaped cup is to hold 36m cm?® of water when full.
What dimensions will minimize the amount of material needed for the cup?
[You may make use of the formula A = 7zr's, where s is the slant height of a cone]

Marks

5
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QUESTION 13 (15 Marks) START A NEW PAGE Marks

(a)

(b)

()

CY

A is 205 metres above the horizontal plane BPQ. A 3
AB is vertical. The angle of elevation of A from P is 37°
and the angle of elevation of A from @ is 22°. 205 m
Pis due East of B and @Q is South 47° East from B,

B P
Calculate the distance from P to @, to the nearest metre.

Q
NOT TO SCALE

Use mathematical induction to show: 4

(-2 (-3 (-2 (=) ="

forn = 2 where n is an integer.

A particle moves in SHM on a horizontal line and its acceleration is
2
% = 36 — 9x, where x is the displacement after t seconds.

(1)) Find the centre of its motion. 1

(i)  Ifthe particle is initially at rest at x = 6, find the amplitude. 1

A hemi-spherical bow! has a radius
of 3m. Oil is poured in at a constant
rate of §m3/min.

(i)  Show that, when the depth of the oil is h metres, the volume of oilis: 2
V=2 0K ~ B

(i) How deep is the oil after 8 minutes? 2

(iii)  Atwhatrate is h increasing at this time? 2

6
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QUESTION 14 (15 Marks) START A NEW PAGE Marks

(a) A particle is moving in a straight line and its position x, in metres, from
the origin O at time ¢ seconds is given by

x =3cos2t+4sin2t+ 2.
(i) Express 3 cos 2t + 4 sin 2t in the form 2
Rcos(2t —a) where 0<a < 125 andR > 0.

(ii) Prove that the particle is undergoing simple harmonic motion, 2
Find the amplitude of the motion.

(i) Find the maximum speed of the particle. 2
When does the particle first reach this maximum speed?
Provide your answer to 2 decimal places.
(b)  Given the binomial expansion of

A +x)" = ay + dyx + ayx? + -+ a,x™ and

(1 +x)™ = by + byx + box® + -+ + by 2™
@ Find the relationship for co-efficient by, in terms of a,.. 1
(if)  Hence find the expression, in terms of n only, of: 3

———x{ay + a))(ay + a3) ..(ay_1 +a,) forn=1,23..
Aoty (ag 18 2) o (an_y +a,

© W Show that tan™*(n + 1) — tan"'(n — 1) = tan™? (f;) forn > 1. 2
(i)  Hence or otherwise show that: 3

- (2 af 2n+1 3m
Zjﬂ“ ()= )+
=

END OF PAPER
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Section I

10 Marks .

Attempt Question 1 - 10.
Allow approximately 15 minutes for this section.

Use the multiple choice answer sheet below to record your answers to Question 1 — 10.
Select the alternative: A, B, C or D that best answers the question.

Colour in the response oval completely.

Sample:

2+4=7 Ay 2 B 6 < 38 ™ 9

B e

A o cC o D O

If you think you have made a mistake, draw a cross through the incorrect answer and colour in the
new answer

it A @ B ® C © D O

If you change your mind and have crossed out what you consider to be the correct answer, then
indicate this by writing the word “correct” and draw an arrow as follows:

;/—‘r:nrrent

Trial HSC Examination
Mathematics Extension 1, 2012

Multiple Choice Answer Sheet

Student id number; ! . l | 1 |

Completely colour in the response oval representing the most correct answer.
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0000000080

Mark: /10

JRAHS MEI Trial Section 12012 Page: 0

.

Ve

Suggested Solutions Marks Marker's Commenty
4
S <5
A
r*n»\& »\r\awe \n&e_:\ Aﬂl\a? L O G\(d\p\r\
, DI
2% 2 PLPPN
{ . N
a5 4 ¥ RS Yo |-
r” -~ L -:(v‘ \n-}rp a("kﬁonf ) 2 ﬂ@ F\Q
4 T Siegs e e
} — T ~
——°—— ————— i Lo e A2 0
i (1 = S .
N o KT e oy
n\\w,.w.!g ~ ot
11’ e o
/\’ L o e o 3{_4“'/3 SS( =7 % )tx:u
ey 2o one. ~y. o,\\~5
IS o \ e -
LAY LS 0\ MWU\V‘ .
(2N 2 fox L_\)z-// H0 & A sldede
Sl Mgy OCH 1)
\‘ ‘(i ERH I - % wes@. amr&‘ugeA \
Loy ; o
N Il g 2 S (Aot ) LA M sians)
Vol g e s 4Gt A ROV AL O
e ™ NG ) S
Lo EY e A K i S
AN Sl T o N = I e )
A 4 -~ = .
A 11 1+ ___\/ N “~5C. e
W“‘M - it ) o — (((:)
g
A . l)
Aoy o A K= —W ol 2.
W t ’ y
VLN o o by 2
\ ! 1 A -
I S e v ey s St 0 -3t S )
o e { . L S o
v g ()
g V.
s 3
< A
e ==t A\
i o'd 'Z
A, =, oA Y
Anr == 2o () -

WCALLISTO\StaffHom eS\WOHUR AH M Fac Admin\Assessment info\Suggested Mk solns template_V4_half Ls.doc




e,

e

MATHEMATICS Extension 1 : Question...||...

Suggested Solutions Marks Marker’s Comments
fA_;\/\r\ 6= A G :_) l/
-~ »:—’C;! Moo (l ‘5 L
< .
P. /. \ {ﬁ/ 2 A ————es \
N A R = T L NN VN W+ -t ?Mé\u\ /a =¥
{ , °
{ = 1§
I
A .
T T T e, | VA
; =,
e N 2w 1 \/ o
D EN 1o -
gy | N
N D 3 ) /Lﬂ
= (ai_: "-‘;"'3’% ¥ Bras et 5‘Q
2 A ~ RS
— 2857 6/;'_ o 3 )73‘_\
. | & .
N \/L» oo,
f"A\ ) v,._
N2 e Maere Ao N\ B 9 ‘.&”\!\A& }
D i : s \ost e €
A ) ‘AQ_
S — Ve, vr Oj‘“4
a ‘l"\K N o
S g o R < or = At
e ~ - v\ == Lo
oL P =l o " ‘/ Vo2 'Z\\
—_ C i —— } o
vy P . N o Loch ene- ek
b VAN : \vop Lo\ ‘///W 'S 1(: 444,24\ §qu¢;‘r{m&
IO~ w e ST e e Yo domot e
p A e ‘ Whoe. @apresion
.~ Y X
s i e Ry— - \—F
AN ) cra = Il
Ny & l("P'
By [ dste 9 Y 7 - |
‘ o L bt (’j v ke \f
t—p (P

WCALLISTO\StaffHom eS\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_V4_half Ls.doc

3

MATHEMATICS Extension 1 : Question..]|. .

Buggested Selutions Marks Marker’s Comments
LA ELT T o
o = \—C ‘ Or‘\\-@, —,C 4L@\
) DY | st Ye -bemcli]
Ty L 8 Q “
3 il A~ oo, .
1 | (-
= ©
Ll
3 LAY
O Yodan
oo \
= U 53
Z 0=\ / . @
1
(2. T HOD QNG
N P
AN BN o =2 oS A antT
) TS
b o
ol — )
. Xpmearde e
h o)
AA »—/;\r;" = ol .—’71;‘/3)
[ (- (Vg
VA S D e r'\L
S \
LA kr\lﬁ‘efmi‘k W AN 725 .
o) Vi 2 1
X e L
CH m(z N 3.
=l o a1
) i
o = \lons oN=A (ad . A "{FP = dpm
e { V) { 7 L Cotars
Y el WP P Lo g S iR PRI S
N ! H ) wbe2fe
= [l 4 ) oy N e TR
X7 \ A . - ap&,_c_cc)
RSN T R T Sof 228
S \ |
= VT a I =
7z AP -Lj/ 7 l.
= oty )
N 7
A G- | T TE Sy
e [l 7 1

WCALLISTO\StaffHom eS\WOH\RAH M Fao Admin\Assessment info\Suggested Mk solas template_V4_haff Ls.doc




W/,

MATHEMATICS Extension 1 : Question.||....

Marker’s Comments

i Suggested Solutions Marks

S e En e = e A /e-n fe\ e O acel

Y

oppocﬁ\e a&‘um Bigles 2
A T =R A
S
o A~e Y - D...zr)\ud‘«\\q \
\nc\\\y\?a )vo ‘@L /Ox:m/:«\ cxf\.\r—r&«(’)&u_x.%\e_ M% % [

TR

) TR i AT
5o %) ) -

1 £(2ae a(:““\

\/’L M\g 'Qaj,”
AE/CQ.//\\_ cX\‘

/ 5 on UL

e, 5
PO TEARY
7y, v v s g v i

> é _J\\,\ wrre'b\'
Ty g g g \W A L |y Lo 02
i 2002 e Ree
Z 2l "1_\“\ £‘>(9\ S
gl
e ASPY \
1 / hY
= A = |
Lol \)
i g ey (i
\ g s
Uy E R
Y f |
= lr\ ——-(nq“l\\
- Py N o2 \
=t LU g
= ?14—1 \‘
§ (el
= (’L'\”\ \/\/
034--9
{
= \ &‘___—\ L \/...'

O K VAN (,\f;ro\ :\é;r\f—e:rx

ACALLISTO\StaffHol &%&IOHURAIH M Fao Admin\Assessment info\Suggested Mk solns template_V4_half Ls.doc

Ve

lr\/\e-_h o\\g&\A\eJ\ “Q ‘\3\/\& 3,,{;;&\ = \“v U(\J(&'Q‘\(\Qr&
o N (‘O\P ) D0 M”T) \
0\()" : “\Wﬂn A = ;él;_ ‘W;k

Y
AmoL:?

-1 Qp - a(al>

%Aoéﬁ%f’f’t‘é

e

& J?”—méo tn
ga %&\/&@}}ﬁ oS EVA'S AN 6375"\@“/\6}—\\'5 U’Y\‘\nf}i\ FOA
J\—"QA_‘Q AY‘&‘”\‘:‘; V\o e C\)@“Cﬁ’\_ ‘\('\6-*5 \p“z‘sr Mar\‘;&

i1




TAARS' M Bl TRIAL, 2012

MATHEMATICS Extension 1 : Quesﬁon...\ 2" MATHEMATICS Extension 1 ; Questiou..!?f .
Suggested Solutions Marks Marker’s Comments Suggested Solutions .- Marks Marker’s Comments
{‘d:) et POl = Jc -+ 1V ", . () .. costs@® = ez 20 FapeenrON - @
om ey bl \v\%—-dq’ev'/'réi—mu-&’Q g [l 22 *5, 50 <
y METHESE T reETHSD W m
TESt » sl 1 POl = L2 —5—b == &0 SO = == = + b— g
val s PC) = ol ¥2 F o=l =o L oA 285281 £585 5 -
2 | TV { A
¢ Tl 2wt g R Y Loeece
AN Jek! },;c:c-@czoeer// xo=—l e ‘*—"T*’{'C'—&b ) _ &-’—t)’\ -t & S ol &, *
Sl v 2 K —2u
el ) e’ L — 5 e—06 ~1) 2 —‘5’-—; Tv S ) T
se” =t [ -t = 6 | ’
& w,:IS‘x i Y d =l 2 (e,}/c—u-n—\ v:_«snr*ks%u‘
s 3¢ — o eed
S..mexl EY( N/ ey s YT : vestR 0 0F
— W @ . ! / \ s
N TS s -2 !/ he lOB s
e e R G GRS Y e L | 3 T - ot
I e S e : -y i e TR = >
= ES 3 Ar=108 b ozomithh
z AS S eI Lt Chgal Stk - o
A b L
MW N o M) AR Y e = [ne
~(>¢—L\CQO-) 4=t | = Ei*z G oL ‘ A‘jh+\—%—”‘:m’—‘
I - ey ey [y S Y ) & N P T -

4
BECy eI 5 The &
3 A\ Rens . Thun 28
ST @ ot e Cnin SR [ — 2 wk%cﬁw"\‘&‘ﬁlﬁ\/ ¢ ) MNots Ade) = wyd €3)
2~
S ———— A=t )lo8 N
=TV YT 4 o8 W jhh L(:

\;

I 7 55 3 iy 0 W y " l hes
EYEN L v o e e i S
(T el ASR oo : 2! o o o
( ) ey g g gy = L-\a"( AELE S LS tom Aln)y= T 1ol + 108
! b4 2 ’
e e e W) sty ul s : b
et = T (A A (n) =
< € M, b, By & M ) O M L T T T i { = 2
- oM { halt ' o o Z'fnre’ oRs T (LDB—- %35_\4)_‘8
it Ll M 2 s . W he
oy - - - ‘ 1 ‘ = Byl e R - Tl R s
= L W A Y [ Foe 2wl Toremeliv. | ey _—s ” =X (sw- 8
W&—L (\T“ 1) neE) = (2"3!3 ;L"-é.( o ng_% {:— LE! v e ® o *
E\i \7-1-2— ¢ Y L a8 Fog Pass.ble  wioi/ ain Yobean oL A td occOl dft = o
M AL i 2- . PR
=8 | o
[ e e T e w2 ) s Yl = 28R LT e i R _ 2
[0 | K| 17 B % F u = o8
e 2 )t\r“’ bR a4 IA!'
- 17V o other Ver P ¥ o o s .
" e i T e S W= LB = 2y
ccazeons Y- WL LE W .
tLediel> U M E) = B 2] w2 X\Lé( = 28% ARG tErrs b =Y - S (L - ) e
P wed ST Y4 ' P N LT Y Y b =& /("‘7”
— — G el@AR T
biw bk (VW FEY & 2 3 2\*&3>< 3\— 287 + ey = 32 = d.ai...
/ A2ttt W ctd 4‘70 4
e)y;&vm-(_'rc $=3 =it
o 2 (X322 NP .
WCALLISTO\StaffHom e$\WOHVURAH M Fac Admin\Assessment info\Suggested Mk solns template_V4_half Ls.doc 576 ot WCALLISTO\StaffHom eS\WOHVURAH M Fac Admin\Assessment info\Suggested Mk solns template_V4_half Ls.doc

/. 2.




).z T s 2y Als [EPERP YA .
MATHEMATICS Extension 1 : Question..! 77", \
Suggested Solutions Marks Marker’s Comments MATHEMATICS Extension 1 : Question..\a’.. AL
ﬁ@(}OH i e ] - TR P T Suggested Solutions Marks Marker’s Comments
- = 2z = = - e .
7/ a) A »; l\\-\::,vma&‘\\ne,\i
PUNMS W v, -y 1o | e I I Y | 0 0
5 % E ) b1 BF  Coudd
u; o
TEST NATORE ok A= Sd2 = L2, : 2 ostanbg R B p 205 tang3 P a\so be .
: : ) o5 Yand = 20%
e T N N I I S I Y B 10 .
52| =56 |- g2 Ol | L2248 Souvn | g t e
TR ¢ L emechh
o = = < @. @& > @& 2
ol N N - ‘ / /|7 BP = 205
N Fon BT
- Relieltue twotim L& caf A= )2 » a _ L
hopod  amer e e RELEE @mtier ) LT Py ¥ O s N N )LD W o ’/‘ wae Lov aa*\wa
2y x - - e U3 Mag oK R T
_ o SV Jog e b)) — (205 dan 23 en 68 Lees <
Tl s ek patin Ar@ar  mecoyrS L olken |AF 2z -LJ; P@ @Di*c_“i ) L 2 o > ( L2 (os &3 b av:;LsBGQ
W= = 0% (:\m,\ S52rdan b A FenDD ban S
A e ebes B cue fuwe Ad IO cund v \vacner cedeoedw
e PQ: z 2 el - s dan b Los K3 g N
B 82 S SR, \,,JDS (*““ S23dan b - Ao " . C“"ﬁ\e PBQ as yar
= S ,A3B 64T - -
v \ s Cov
- . : = 3bLO, LV\&QV&.%}Y vwe)was : covvect Sovwadt
HNETE T "2 wedeg qpowmp (WO : P wov\.:,\v\ﬁ
e e
N - o >
e R (o) | o o
2 _ .
N " ) ‘ - 3 4 n 2 <
u () 4\ vavk. eV
& =Ry A . A:S/\ﬁ/\‘ PM\?& Ve Lov v 2 H PC‘L) J,él,e?g D~.°\=—’2$
. ooy r-a A e s <Aap>
. R WS L= _3\:\{ B2 L Aep aws
A ' : ' VT N ey Prove L&s = R
/d = ~
> = - =l e Sov
gt B e S T AT T i s A?i—
4 4 — st avy
. ; - N _C.g." n= \ Lo
A= UYL Yo recall focuecde | o S W RV N “we b e e
— wuel  menhon
“ . Aewe Jor a\\
N ‘,\-\Q_SQJ’Q (2N
oY
P
WCALLISTO\StaffHom eS\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_V4_half Ls.doc J\Maths\Suggested Mk solns template_V2_no Ls.doc
ER




MATHEMATICS Extension 1 ; Question.\%...

Marks

Marker's Comments

0y

Marks

fq 2-

Marker’s Comments

Suggested Solutions

Suggested Solutions

;\&C-tx_

e e

[P

= 3(

Wt le X

-

“hap v

T TR
o= W
\as
'\k,—‘\-:?
fp(: .
T ey e

rt::\.)

S S T

= R
F‘H) < - & >GA msm?hm\\

=D (E5) _,

v e
R

Vl V‘C \e l)

SO SV W Lov V\—\/\_
> = Wi ,17,»

e R (e ey

e dvue Sov o= kel
22

=\

A )

2% ( L+l>
ok - e

=

v 2

alwe D

/;_&A‘pu.\av\\ ves Avice Sewv

Nd o asotmed e e Seav

M sledemend
Nt e Cov vw=l,

X .,ére_cxz_\rs wz2 |,

CLA A

\oeoean ? FENXE A

Av e —C()«/ a\\

P PC) B e &

D we 5\»L,Lclew_‘f$

ok Mar s

@,\.,_-,? e \m.i

S o X Q

Z— .
= 5“'“‘““’{\“‘3“ =
"’\ & M‘_w&/\ome e

0 dte - p-qu
e
Corr e i AV €. ":‘*;‘(‘/ = »V\l (_:)C«“‘:)C—b)
/\C&v‘\‘\"(&'
goe = (2w
Cﬂ"«v\\‘fﬁ = b
.‘\-) [,L\/ ‘— BL—- \:c
- (’3(7“'6(‘&,)-‘-’}‘3‘*
£:-5gt~t§+c
=
[YTAVE o) ¥ s i N =
e A
6 = ik ~\t>
S = -~ 5k
, L’}/

CC\UQ*\DH“S \/)“ - %‘oﬁ*ﬂ‘b v—S‘f
s T Ay — 0%
C\(_%ac' e _\L>

- _C\LL __<';,~-L\L)

\I

¢

2 \Maths\Suggested Mk solns template_V2_no Ls.doe

*"\L "x—-L\3 - L‘>
coq(w = (=) )

[z)u(x)'e_\l"f\ (,Q ,ty; —)L))

2

N

T
v ent et - Do)
Ve g [_a."- Cm-—ce)j

el VO
L acle bes e = -

o=ty i
a= k. (za?,
b(l-_:
o e A N Nocez- Sevya . Because S \V‘:—\‘\Q\\\\
VARREI S a Co s nk & ak v eat o e
E - 7~ el o5 ‘,\D-\v\oli\
: \ ]
cavhve o tos 2)£ Crront WV«\&\)\ 458
N . = e ; W O ek
e ¥ L L= 4
e T2 %A 4 e L B A Y+
b=
- 2
a Cof;"..;{; = 3 .
o. L = '
A I Yy
o= ¥ A

J\Maths\Suggested Mk solos template_V2_no Ls.doc




MATHEMATICS: Question..' 2.

Py 4

Suggested Solutions

Marls Awarded

Marker’s Comments

\Jé\\’\3 ‘Pks\'\/\mfsa\rﬂcg .
27 = (3w

2
s oA~y
- (a - [SV VN

3
B A

12N
NETS e «ju\md) Al v

= Z e z \’\—5 "

TL?"L\“%‘J“’

C o (e )
3

R v

SoNVohswe v ‘E‘(c{\:\)—\}) M3
2

i"\\x‘eu \f\a\'\\ 7 e\

‘2.::»\-0.%‘& A 3‘41 '\’jl =4

e e caveoh

L PN S s edoseenn =X 2 S anah

e = B
L

KN \-& = ‘5\‘702
) 3
Voluwie = W} (4 4
A

- %S (q‘»r})dnc v

ERAN 5 2
- [ax- = |
- w [Camee) ~LABRDTEeY

%
- (3*—‘:.)
=

L (e W
""g(h‘ WEY o

< LV‘_ LO\\,\“‘ — \,f) as \le.vﬂwv&d
3\

LAY s

7

e

2,

z
%= 973

N T AS @‘:Ql

\a v e ¢

\tMK\": 6\’“”‘7\0\
be B awsd B

Ve G v\'\s‘e,c)\

Is
civehe

reoteded w il
tovveck W wavk §

e

3
-« 2
B
v .
IO Wi

anmeh | mavie

S wvvc.c)t
.gwbcz_p‘u"e‘/‘-\' wov‘(—\vﬁ

o \\_\’\Ou\( v«n\;wﬁ

o 1> -5 (5;‘;1.‘)(_’—7 -

o

=

1\Maths\Suggested Mk solns template.doc

e f\wes\—ujw siwptels,

(L-k)ljg

MATHEMATICS: Question. \2...

9 5

Suggested Solutions

Murks Awarded

Marker’s Comments

dlit) Afes Sranotes Vo= EX W2 ‘-g\?_«g
= W) 3 - an O
fosr o= om(ad-wt) AR
» » b s U A (I
f e ©

< ; c\\l\ - \%\41%%“

Nothes -2 T ews
S L o

o

W~i= & o Wigu-% = o

i

&
¢ i+
1N o
TFl
N
W
—~

an

L —\7:_ e

s 4
b“\tﬁ A d_‘,c:\\)*\c\,\ —t \/3

ek,

Deowe @anded 2P
'\u‘&'\\,\ l,\q,_%
{ms\'to\a\ oX L\"_g\/\__g

Douwe desde ok L=\
12N \,\_'5._ ct\Al-\"% b"\B
el vx.o“\ mewL\cv\
PR soluihen S,

ek \ucv\l—‘-\\&n

Ay AN - (3‘”5“3 A a
de 3 ‘ T TS €3
- w
AV - o (- LY) SW
oy - e (lgw -3\ > zC ()';r:e
- B o Lo
= (LL _\,\> e 5(&;.\_——141)
) S Covaolk
Y N
— — \ade
d% N Ak ey ( 1)
{ ® X o luadle. 7 /\‘E’\!@L\Jr\
=t —— -% = 358
T bhl) ran o= L
o \ an o (EeelE)
A
At 3(("\"“\!3‘> Sowe CQ‘\CVJ\CL'\'E_(D[
wilews =\ a4\ = A = J’“ v/ Vefovie o Pve Svek Ser
~—— Te (b~ (B é,\e_,ee, AN vad\-
’ x e .
Y = S T e o
\v‘\c.a/easx\«\f._‘ at o reke of ‘l/ns Me,-\fes/M\v\_

J\Maths\Suggested Mk solns template.doc




VE

Suggested Solutions

Marks

Marker’s Comments

@)

2 = B onC Dk o fp S Dk k2

YO Y N VXl I N 7]

,

v SR E
R, . Bm.x. =t
RE = g e
L=
Co e o = e
By vy o = P
e L Yy o moe ! e o o) e
i o w U AR Y n il )

Zy0.,

DQML”L

(1) e B AR (o b — Lo, &) 42
) ﬁ,{« - DD (2 e BT
S e Lok — g S )
o= — 90 (or—2)
I i
= — i (2C=2) 7
= (N oSy v

e At . T = = =) (b

. DK =Y
2 oo 2k - 4 SN 2L =, R ORGSR B 2R

@
é K ot -

6]/)%%‘&{' .

ok anewer only
aceept”

H,Lc.sm*’

COC eq uj,\:l’wvl& )

D) o
O*

O RSOV -
@ amfm

BN A R S - )
OO LS DAL
15 5 AmEITes W
N ) s gewm/(n’& WOHS
(i) o = e () S]] (ze~éou7 75 ) oq ['721" 1o
e nd ZUAK 6//1%9119 (O.mlS. .
2 A (e e dg TN | = /um/ww
T Lo SN o (GarOT] 027 @ M .
bt S AT st AT b 'L ’@7 @ o gamﬁww
L ’7;,+ Lo (%) | 4 1o eol
I S T 3~ A W @ moex St
b 2. ('zoLP)
W 0 b = @rl\_ ﬁm/ﬁ,g@z#%qgfyﬂg /‘epé
K I“" C bl R @ N,ZQ/:WMYZ'W
[ s e S = 4
i S L £ G Bty Bt ) © F/m’urrﬂ% 5
CI‘.;C\. s Lo v/b Yoy ) o /
p = A, aa -0 ~ o~ : )
= 1 btz An.=.) @ O@ cos? MZ;:ZJ{W""‘
b - BTy D) ﬂ,ﬁQW‘ef
AL e = (I o D2 B Joroin
" PSRN e = (8 S B Y 7
= 4|
i

\WCALLISTO\StaffHom e\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns template V4_half Ls.doc

- t—wwgzutm’o+ém3 éow T

= b’ '//7) % zfa»«. ") = toall

Lo, y{&r‘ - R
A Ln / Tl 4 o i)

= Fa. la.in) F Ll a7 )
[ = FA{EonTTn) K A /F’ =)
p— A+l
L — A{iEl)
o a1
[ h—pi
- b+ Lo /nf/) /LCT‘/‘Z_(/IA/I‘JL
Lot T fan < WR nz |

= Chu [Znrl N ST
L /-n-n") Y

Q g
Q/VZO( Ve < Eow (ney < /o
T/ ‘J—nf’n##mm’/nﬂ\ <« I
a2 . k=1 ..,
HBM “Tn ¢ fod [nr) = Tt Lo~ '( p :.f’,,a)
Daa t L \_.__
C Z Z,'Ovv_‘/r‘*\) < 1Tt Eoa /)— o
=1 = TIL+ %wb'/i‘“*’\{*"z
(F-nvn?) ’

MATHEMATICS Extension 1 : Question., [&r.. Y2
Suggested Solutions Marks Marker’s Comments
L LOHDMIA..... oy bz o [GRE Y ETDEEE (o))
NSO € 1) Y= ST A O N
(a0 ]
[ — . = nd - e
Y7o glmes Eon lar) = L [A=D= fe'( ZQ nzl
m(uﬂ/zr Lo /L//S) : ‘
Le b Lon! /o) = Lowd = py| -rrq_ < L ATVZ
2ot h-) ~/1> b = =l 0| < B EB
Lo (of = (5S L foo o L s Aresied:
S s ot Lo o O éﬁ‘/"““‘() T
= (nEpP—(n=1)
. 7+ ntnln-1) () g P
= 2 2
[+ n = h* Osﬂm ~
e L=/ = k7r+ er"/"/n‘-) Kez! R ;mjm
3wt Ty Lo~ AN < T2 C NS
é«-ﬂ ~f n;l/’) — é@r\, l//7 /\ = 60""4{_:1}
. } . =il nil EXIE ¥
i) T show) éo\m,' (BT = Lonlioea) 15 .
r 2
LHS = 5ﬂtaﬂ~'(r+h to (1) ]

C . 7 g lon et b ) £ o VoD

' @ L b b rid-
)f\ ex (m/ws LA

_{CM‘,((_,@ZALVJ

u Aﬂ‘ o ‘es‘f)rt’SSLm.
amdl sl iy

i @ ?ﬂmm*&l SL"LLLJ'lQ‘\»
@ Lorrectres Frecddon
- e

) s e
K e

PR ATT Mg s A Amainl A nrassmman + infr\Snaaastad Mk salns template Vd.dac




